Conversion Kit - Skid to Roller

- R700480

Details

Includes: 4 ea: R400336 Bolt, R446146 Washer,
R453013 Washer; 2 ea: R400266 Bolt, R444510 Nut,
R3254-6 Washer; 1 ea: R154217 Bracket, R154218
Bracket, R500763 Bracket & R500764 Bracket

Specifications
Manufacturer R&R Products

Fits Models
Jacobsen Blitzer

Replacement Parts

R154217 Bracket - Support LH
R154218 Bracket - Support RH
R3254-6 Washer - Lock 3/8
R400266 Bolt - Hex HD 3/8-16 x
1-1/2
R400336 Bolt - Hex HD 7/16-14 x
1-1/4 GR5
R444510 Nut - 3/8-16 Sq.
R446146 Lock Washer - 7/16
R453013 Washer - Flat 7/16
R500763 Bracket - Roller LH
R500764 Bracket - Roller RH

Evergreen
C/. Bartomeu Amat, 2, Entlo 1 Terrassa, 08225
+34 931 130 054

https://evergreen.rrproducts.com/




